Study Guide

Athenaze, Chapters 18-20

-ut VERBS

1. The stem has long vowels in the singular, short vowels in the plural.

2. The present stem is reduplicated; the aorist stem is unreduplicated.

3. The future tense is formed as usual, adding -o- to the unreduplicated stem plus primary

(present) endings (dwow, ONow, oTNow, fjow, deléw).

4. In the imperfect, add secondary (past) endings directly to the stem vowel.

Odwut “I give”

tiOnut “I put, place”

totnut “I'make X

detevout “I show”

Odwg tiOng totg  stand” Oelkvog

ddwot tiOnot totnot delkvuot

dldopev tiOepev lotapev delkvupev

dldote tiOete totate delivute

d1dda oL t0éaot lotaot dekviaot

dwow “Iwill give” Onow “I will put” omow “Iwillmake | dei&w “Iwill show”
dwaoeELg Onoeic omoelg X stand” Oeléelg

dwaoel Onoet omoetL Ocl&el

daoopev Onoopev oTtoOoUEV detéopev

dwaoete Onoete otoete Ocléete

dwooLoL Onoovot OTNOoOLOL detéovat

£didovv “Iwas etiOnv “I'was totv “I was making | édeikvov “I was
€didovg  giving” ¢ti0eic putting” totng X stand” €delkvug  showing”
£0idov étiOel tot €delkvo

£didopev ét0epev totapev €delkvupev

£didote éti0ete lotate édelkvute
£didooav éti@eoav lotaoav £delkvvoav

dwra  “I gave” €0nka “I put, ¢otnoa “Imade X £dea “I showed”
£dwkag €0nkag  placed” ¢otnoag  stand” £detéag

Edwice £€0mke £otnoe £dele

£doplev £€0euev goTroapev edel&apev

£doote é0¢ete éotroate ociéarte

£dooav é0coav £otnoav £oeEav

dWdov ddote “give!”
owoval “to give”
O1d0oVE doLOK JLOOV
“giving”

TiOeL tiBete
TBévat
T10¢ic tiOeloa TIOéV

tot lotate
LloTdvor
LOTAC lOTAOX LOTAV

delkvy delkvurte
devoval

Oevig delkvooa
dekvuv




06¢ dote “give!”
dovval “to give”
dovg dovoa OOV
“having given”

Oéc Oéte
Oetvat
Oeic Ocloa Bév

om0t otnte
oTnvaL
OTAG OTAOK OTAV

Ociéov deléate
dctéat
Ociéac dellaoa
octéav

Comparing inpu “I let go, send,” eipi “I am,”and eipu “I will go”

Don’t look at this section until you know the four verbs above!

1. imui“Ilet go, send” always has a rough breathing; the stem has -t except in the aorist

singular (and future). It usually appears in compounds (see below). (Chapter 20d)

2. eipi “I am” always has smooth breathing. Learn this verb. It is your friend!

eip “I will go” always has smooth breathing, the stem always has —t. In Attic Greek, it

is used for the future and imperfect of égxopat “I go.” (Chapter 13a)

nue “Ilet go, send”

et “Tam”

goxopat “Igo”

inc infin. tévat el infin. etvat €oxel infin. tévat
inot  partic. telg teloa 1év ¢otl partic. v ovoa 6v éoxetal partic. v lovoa
tepev éopév éoxopeOa v
lete éoté éoxeo0e

ot elot £gxovtatl

Now “Iwill let go, send” éoopatr “Iwill be” eipe - “I'will go”
noewg éoel el

Noet foetal elot

fjoopev goopeba lpev

foete éoe00¢ lte

1joovot éoovtal laot

v “I was letting go,

nvorn “Iwas”

na “Iwas going”

teic  sending” Noda WES

te nv net

lepev Nuev Nuev

lete nre nte

teoav nooav noav

Ak “Ilet go, sent” nABov “I went”

n & N

Nkag  infin. etvat NABec  infin. éADelv

Nke  partic. €ic eloa €v
elpev

elte

eloav

NAOe partic. EéAOwv
NAOopev  eéABovoa EAOGV
NAOete

nABov




The Meaning of the Verb iotnut (Chapter 19a)

1. tomnut in the active and 1+ aorist always takes a direct object (transitive)

2. {omnuu in the middle and 27 aorist need not take a direct object (intransitive)

totnut “I make X stand” totapal “I stand (myself), I stop (myself)
totng lotaoat

lotnot totatat

lotapev lotapeda

lotate lotaoOe

lotaot lotavtal

éotmnoa “I'made X stand” ¢otnv “Istood, stopped”
£éotnoag £oTng

fotnoe ¢otn

éotnoapev EoTnueV

gotroate gotnre

£otnoav £otnoav

-ut Verb Compounds

amnoddwt I give back, return, pay

amoddwpat Isell

rtaadidwpt Thand over, give

avartiOnu Iset up, I dedicate

érutiOnue I put X (acc.) on'Y (dat.)

aviomnut I make X stand up, I raise X; when no direct object: I stand up

kaOlotnu Iset X up, I establish X, I appoint X, I put X into a certain state; when no direct
object: I am established, appointed, I get/fall into a certain state (cf. p. 51)

adiotapar Istand away from, I revolt from
adinue Ilet go,release, send, throw
épinpui I throw at (¢mi+acc.)

ovvinut I understand



Genitive Absolute (Chapter 19a)

Greek sometimes uses a noun-participle phrase in the genitive case instead of a subordinate
clause. The noun that the participle modifies cannot be part of the structure of the rest of the

sentence. It may be translated by “with, as, when, since, or although.”

Examples:
TAVTWYV OVTWV ETOUWY, O LeQeLS TV otovdnyv éntonjoato. “When everyone was ready, the

priest made a libation.”

TIOOTXWOEOVVTOE TOU VEAVIOU, 1] KVWV &YQiws DA&KTEL kat oguatat 1’ avtovs. “As the

young man approaches, the (his) dog barks fiercely and rushes at them.”

Verbs that take a supplementary participle (Chapter 20d)

AavOdavw “escapes the notice of,” Tuyxdvw “happens to be doing X,” paivouat “is shown to
be,” $pO&vw “anticipates” have their meaning completed with a participle that agrees with the

subject.

Examples:
0 PiAmmog kat 6 AtkatdmoAis tag Eguvvacg EAabov tag Muknvag Atmovtec. “Philip and

Dikaiopolis escape the notice of the Furies (by) leaving Mycenae.”
0 ikétng étuxev gvyouevoc. “The suppliant happens to be praying.”

1 yuvr) toL Ayapépvovog dpatvetat éxOoa ovoa. “The wife of Agamemnon shows herself to

be/is clearly hateful.”

0 ®iAtrtog Tov mamnmov POAveL kKata To 60g Teéxwv. “Philip anticipates grandpa running

down the mountain; i.e., he runs down the mountain before grandpa.”

CULTURE: the cult of Asclepius at Epidaurus, Sparta and Corinth, hospitality and

homecomings



